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0X 100 |# GSM 2 DCS & 5% *
1X 100 |# GSM 2 DCS % 5% *
2X 100 | GSM 2 DCS % se i »
3X 100 | GSM 2 DCS % seif »

91 4X 100 |# GSM % DCS )& sa@ *
X 100 [# GSM % DCS /& 5o *
6X 100 [ GSM & DCS & 5% *
7X 100 [# GSM % DCS /& 5o *
8X 100 |# GSM 2 DCS % 5% *
9X 100 | GSM 2 DCS % sed »
0X 100 |# GSM 2 DCS & st *
1X 100 | GSM 2 DCS /& 508 *
2X 100 |# GSM 2 DCS & sedfp i »
3X 100 | GSM 2 DCS 4 5eff = i@ *
4X 100 |# GSM 2 DCS % 5% *
92 oX 100 |# GSM 2 DCS % seyp i *

6X 100 [ GSM 2 DCS 4 5eff = /& *
X 100 |# GSM 2 DCS & kg i »
8X 100 |# GSM 2 DCS & kg i »
oX 100 |# GSM 2 DCS & kg i »
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2X 100 |ie £7 e GM = @i
3X 100 |# GSM & DCS & %adp = & »
03 4X 100 |2 GSM & DCS & s »
5X 100 [#DCS 27 Ex" 27
6X 100 |#DCS2mExe 27
X 100 |#DCS2wmEspamir
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0X 100 | & GSM & DCS i segf = &
0X 100 | 050 = 45 & *
X 100 |sgsgs gy Erer
92X 100 |# GSH % DCS 4 sk »
3X 100 |# GSH % DCS 4 s »
AX 100 |# GSH % DCS 4 s »
90 5X 100 |& GSM & DCS & s »
6X 100 |# GSM 2 DCS ¢ 5k »
X 100 |#e =7 & 070 Azrpe
8X 100 |# GSM 2 DCS ¢ 5k »
0X 100 | 059 = 5 & *
0X 100 [ GSM 2 DCS 4 5 »
X 100 |# GSM % DCS ¢ 5 »
oX 100 |#CT-2 4% »
3X 100 |# GSM % DCS ¢ 5 »
AX 100 |# GSM & DCS : 5 »
96 5X 100 |&CT-2 st »
6X 100 | PACS s it #
X 100 |&CT-2 st »
8X 100 |& PHS & st *
9X 100 |& ACES % st »
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0X 100 B GSM 2 DCS 2 % = R {7did 13k biig #
1X 100 B GSM 2 DCS 2 % = R i7deid 13k biig #
2X 100 & GSM 2 DCS 2 % = i f7deid ik sLig
3X 100 & GSM 2 DCS 2 % = i f7deid ik sLig
4X 100 & GSM 2 DCS 2 % = i f7deid ik sLig
oX 100 & GSM 2 DCS 2 % = i f7deid ik sLig
6X 100 B GSM 2 DCS 2 % = R {7did 13k biig #
X 100 B GSM 2 DCS 2 % = R i7deid 13k biig *
8X 100 B GSM 2 DCS 2 % = R i7deid 13k biig #
9X 100 B GSM 2 DCS 2 % = ;R f7deid 17k Seig #




